log(count)

10

gfp

ctcf

10

20

nread

30

40

10



log(count)

10

gfp

ctcf

10

20

nread

30

40

10



log(count)

10

gfp

ctcf

20

nread

10



log(count)

10

gfp

ctcf

20

nread

10



gfp

ctcf

10

(3uno2)bo

20

15

depth



gfp

ctcf

10

(3uno2)bo

20

15

depth



Coverage

20 —

_20 —

I
79388100

I
79388200

Position

I
79388300

I
79388400




Coverage

20 —

_20 —

I
79388100

I
79388200

Position

I
79388300

I
79388400




Coverage

20

_20 —

I
79627800

I
79627900

Position

I
79628000

I
79628100




Coverage

20

_20 —

I
79627800

I
79627900

Position

I
79628000

I
79628100




Coverage

40

20 —

_20 —]

I
80750500

I
80750600

I
80750700

Position

I
80750800




Coverage

40

20 —

_20 —]

I
80750500

I
80750600

I
80750700

Position

I
80750800




Coverage

40

20 —

_20 —]

I
77875700

I
77875800

Position

I
77875900

I
77876000




Coverage

40

20 —

_20 —]

I
77875700

I
77875800

Position

I
77875900

I
77876000




asinh(sums2)

(=Y
o

chrl0

asinh(sumsl)




asinh(sums2)

(=Y
o

chrl0

asinh(sumsl)




